CCNA 1 %
(1) Lab5.2 (P5-5) g F?‘»? HEF1 (Static Route )

7. 1 PCO fol ping PC1 Eﬁ ) %J:%I f§-Router( ! = F%?PE'?,EI RO>en, conf't, ip r
192.168.1.0 255.255.255.0 10.1.1.2, ex, #sh ip r (£ Routing Table)’@ﬁ’ % 3% L PCO
AR ping PCL > PNELFHIRIEE 1 F GIREIN2 2 53 - (3 Routerl 1
HIF IR [pIPEE & > AR %%l Routerl %Eﬁ FEEE > R1>en, conf t, ip 1
192.168.0.0 255.255.255.0 10 1.1.1, ex, sh ip r, J[IIF= PCO FI’ ping = PCl ',
PCO>tracert 192.168.1.1, - F‘j}jﬁ}{ﬁ”f’?q Router ! fi'ﬁ:"&g'l » F"TE PC ?Tip
I ping W7

RO, RI>en, conf t, ip r 192.168.2.0 255.255.255.0 10.1.1.3, R2>en, conf t, ip r 192.168.0.0
255.255.255.010.1.1.1, R2>en, conf't, ip r 192.168.1.0 255.255.255.0 10.1.1.2
(2) Lab5.3 (P5-12) E EEERE (Dynamic Route) RIP Routing

Table -

A ¢ 7 Router0 fr%’#g RIP > #en, conft,rori > ne 192.168.0.0 > ne 10.0.0.0 >
% Routerl = Router2 I%“'{g“fj?“ﬁ? Router0 ﬁ‘[ﬁjo(RO,l,Z#sh ip r(oute) &5 Routing
Table)

(3) Lab5.4 (P5-15) Bfwkﬁ‘][[ RIP ;’E‘{@(passive interface)

A 1 WAN /T RIP ]9t ﬁ[ﬁ“FﬁE'ﬁ‘,, Router2 J—F;Q‘%—_’ s 0/1/0 B:Lﬁilj
RIP E{Eﬁl » R2>en, conf't, ro ri » pas(sive-interface) s 0/1/0, end ( Cntrl Z), #sh
r(unning-config)

(4) Lab5.5 (P5-18) RIP2 r%?i‘—_

A 7 Router0 fr%’#g RIP > RO>en, conft, rori>ne 10.0.0.0 > ne 192.168.1.0
I & Router]l Z* Router2 I%“i’ﬂ% =2 Router0 ﬁ[[ﬂ I%Juah JFIZE Router fif iﬁ A’
7FE‘ "t ping > R2i?\,} ping #|| RO, R2#ping 192.168.1.126, [E1F[[FE #&g’gf%[[s}ﬂ\ T

3 ﬁ‘ " R2 [V routing table, R2#sh ip ro(ute), f'% %[ 192.168.1.0/25 ==
192 168.1.128/25 — |ﬁ9'6%‘%E lm*J?F’ Ay 192.168.1.0, AE‘\[F 192.168.1.0 FIJFH%&EJ
TOENR2 PR ST R, ARl - A P EIEIpVEY, L Eﬁii%sfﬁfﬂfaﬁ_ AlES
Router0 fl%'t RIP2 > RO(conﬁg)#ro ri > ve 2 > no au(to-summary) ° £l & Routerl
=2 Router2 F%%—_’“b =2 Router0 ﬁ‘[ﬁj - Lab5.5-finish.pkt (»5-23) R2#sh ip ro(ute),
R-2%#sh ip pr(otocols) (P5-23) R-2#deb(ug) ip ri(p) (P5-25)

(5) Lab5.6 (P5-27) EIGRP r%?‘ Z(Routers are all Cisco)

4. : 7% Router0 fl%'t EIGRP, EIGRP R routing table [IU15 Fbfel [ "“*’3 =
%ﬁlzl{'fﬂl Hello #5 ACK ] t/, 2:As %ﬁ?ﬁ%ﬁ'[ﬁj 3,K f@ﬁ'[ﬁj, T Fﬁ'ﬁ? s 7 ‘WH
RO(config)#ro ei 10(As, Autonomous system EWF‘,%%&’E) » ne 192.168.1.0
255.255.255.128 > ne 10.1.1.0 255.255.255.248 > no au > £l & Router] == Router2 F%P
4 =52 Router0 ﬁ‘[ﬁ - Lab5.6-finish.pkt ( P5-30, 3 '[EfEFF'I _'AJ ), R2#sh ip ro, sh
ip ro ei( [ {&f=- eigrp Frik F AUZEIET), sh ip ei ne(ighbors) )



(6)  Lab5.7(P5-33 )H1— Bki8i OSPF r%‘%—_’((Routers are not all Cisco, i’
H| Rip, Rip2, OSPF, if your network is classless, small adopt RIP2,
big OSPF )) rip hop count <=15, eigrp 255, OSPF no contraints, OSPF
split network into smaller connected areas. There must be one area
called Area 0, named Backbone area *FJ‘HI@E&:E? as well. The others
must be connected to this area.

. 17+ Router0 fr%’#g OSPF - #en, conft, ro os 1(process ID, One router may
run several OSPF procedures. To distinguish wich procedure, the router must give an
unique ID for a procedure. The ID is valid only for this router.) » ne 192.168.1.0
255.255.255.128 ar(ea) 0> ne 10.1.1.0 255.255.255.248 ar 0> El & Routerl == Router2
]%7{5@ === Router0 AR -

(PS-37 " Subnet Mask, wildcad Mask, P5-38 ™ OSPF [/l ¥ {5, DR, BDR,
RID), Lab5.7-finish.pkt R2#sh ip os, sh ip os da(tabase), sh ip os in(terface), sh ip
os ne(ighbor), sh ip pr(otocol)
(7) Lab5.9.pkt (P5-51) #]|¥| Loopback Interface %&F | RID T{é?’F',iL_
DR/BDR
HA. 7+ Router0 fr%’#g Loopback » RO#en, conf t, in lo 0 > ip ad 1.1.1.5
255.255.255.255 > ctrl+z (=end ) » wr(=copy 1 s) » sh ip os in El i Routerl == Router2
]%7{5@ U= Router0 #/[fi] » #77¢| Router r%”{g%h’?f #% » FITE] Router ’ﬁ %J:EIEGP?
?%‘EI*J reload » Fi %’E?‘éﬂ%’ﬁ%ﬁﬁﬁ e Router » RO,1,2#sh ip os in > 3{2{[ DR ==
BDR(P5-53 bottom)
(8) Lab5.10 (P5-54) &R OSPF Priority —‘F?’F',i‘—_ DR/BDR
A 17 Router0 fl%“{g OSPF Priority> RO(config)#in £ 0/1ip os pr 2( Router0
f* Priority £% 2 ) > do wr (=end, wr, {E! ﬁi?{?} LT Tﬂﬁ}*ﬁ' Y » 7+ Routerl _Fr%f{g ,
in £0/1 > ip os pr 3 (Routerl [V Priority £% 3 )> do wr> Router2 ( Router2 [ Priority
Bh 1, 5;?_7/%}‘) Al ,EI]%‘”Q‘__ K FrE | Router Ei 39??5{?@ reload » E %?ﬁlﬁ%hﬁ‘ﬂfﬁﬁi B
?J Router » sh ip os in > @{[ DR = BDR(L’*}%’ETE’:H‘,EJ‘T\ Fj) °



